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Register Number

Language — Part I — TELUGU — Paper I

(Old Poetry, Modern Poetry, Grammar, Prosody and Poetics)

Time Allowed : 3 Hours ] [ Maximum Marks : 100

dü÷#·q\T : (1) Á|üX¯ï |üüÁ‹ø£ eTTÁ<äDeTT dü]>±Z ñqï<ë nì #·÷&ÉTeTT. eTTÁ<äD˝À @<˚ì ø=s¡‘·
ñqï|üŒ&ÉT yÓ+≥H̊ >∑~ $#ês¡≈£îìøÏ ‘Ó*j·TCÒ…j·TTeTT.

(2) Æ>Äæý$yé°Mìü Ðèþ$ÇÄæý$$ A…yæþÆŠÿÌñýO¯Œþ ̂ óþÄæý$yé°Mìü ±Ë… Ìôý§é ̄ èþË$ç³# Ææÿ…Væü$ íÜÆ> Ðèþ*{™èþÐóþ$
Eç³Äñý*W…^èþ…yìþ. _{™èþç³sêËMæü$ ò³°ÞÌŒý Eç³Äñý*W…^èþ…yìþ.

>∑eTìø£ : »yêãT\T $es¡eTT>∑qT, dü÷∫+∫q $<ÛäeTT>∑qT, düŒwüºeTT>∑qT, düs¡fīeTT>∑qT Áyêj·Te …̋qT.

I.  ÁøÏ+~ Á|üX̄ï\˝À @<̊ì Hê*Z+{ÏøÏ ◊<äT |ü+≈£îÔ\˝À »yêãT\T Áyêj·TTeTT : 4x2=8

Answer any four of the following questions in five lines each.

1. bÕ\düeTTÁ<äeTT me¬se]øÏ |ü⁄{Ïºì\T¢ >∑qT bÕqTŒ>∑qT j·TT+&ÓqT ?

2. eTqTwüß´ Ò̋\ ø£\Væ≤+#·T≥ ? nì <ëX̄s¡~∏ m+<äT≈£î u≤<Ûä |ü&ÓqT ?

3. sêEq≈£î <ÛäqeTT‘√ u≤≥T>∑ qT+&Ée\dæqẙ$ ?

4. ø√øÏ\eTà ‘·q ø±\eTTqT m≥T¢ >∑&ç|æq~ ?

5. •X̄óbÕ\Tì ‘·*¢<ä+Á&ÉT\qT >∑÷]Ã Áyêj·TTeTT.

6. bÕs¡«‹ bÕX̄ó|ü‘· Bø£åqT #̊|ü{Ïºq $<ÛäeTTqT $e]+|ü⁄eTT.
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II. á ÁøÏ+~ Á|üX̄ï\˝À @<̊ì eT÷&ç+{ÏøÏ |ü~ |ü+≈£îÔ\˝À »yêãT\T Áyêj·TTeTT. 3x4=12

Answer any three of the following questions in ten lines each.

7. ªª‘√≥ e+{Ï ˝Àø±ìï m&Ü]˝≤ #̊j·Tø£+&çµµ m≥T¢ ?

8. sêE yê´bÕs¡eTTHÓ≥T¢ eè~∆ #̊j·Te …̋qT ?

9. ø√øÏ\eTàqT >∑÷]Ã ‘·*¢|ü&çq ẙ<äq jÓT{Ïº~ ?

10. •X̄óbÕ\Tì »qà eè‘êÔ+‘·eTTqT ‘Ó\T|ü⁄eTT.

11. Vü≤+düTì‘√ ø£èwüßí&̊eTì |ü*¬øqT ?

III. á ÁøÏ+~ Á|üX̄ï\˝À @<̊ì eT÷&ç+{ÏøÏ |ü~ |ü+≈£îÔ\˝À »yêãT\T Áyêj·TTeTT. 3x4=12

Answer any three of the following questions in ten lines each.

12. ªªø£$‘ê kÂ<Ûä+µµ ˇø£ |ü⁄wüŒø£ $e÷q+ nH̊ dü+<äsê“¤ìï $e]+#·+&ç.

13. ∫\Tø£ ‘·*¢ kÂ+<äs¡´eTTqT ø£$ m≥T¢ e]í+#ÓqT ?

14. bÕs¡«r<̊$ |òüTq‘· m{Ïº~ ?

15. áX̄«s¡T&Ó≥T¢ kÕøå±‘·ÿ]+#ÓqT ?

16. Áoø£èwüßí&ÉT Vü≤+düTì m≥T¢ z&ç+#ÓqT ?

IV. á ÁøÏ+~ Á|üX¯ï\˝À @<̊ì ˇø£<ëìøÏ Çs¡Te~ |ü+≈£îÔ\˝À »yêãT\T Áyêj·TTeTT. 1x8=8

Answer any one of the following questions in twenty lines each.

17.  ªªø£$‘ê |ü⁄wüŒø£+µµ j·T+<ä* ø£$ Vü≤è<äj·T+ m{Ïº~ ?

18. yÓTÆÁrã\Tì <̊Vü≤‘ê´>∑eTTqT ‘Ó\T|ü⁄eTT.

19. Vü≤+|” j·÷Á‘·qT >∑÷]Ã ø£$ e]í+∫q $<ÛäeTTqT Áyêj·TTeTT.
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V. á ÁøÏ+~ |ü<ä́ bÕ<äeTTqT #·~$, n&ç–q Á|üX̄ï\≈£î »yêãT\qT Áyêj·TTeTT. 4x1=4

Read the poem and  answer the following questions given below :

20. $|òüTïeTT #̊ôd<̊\, |üè~∏M|ü‹ ˝Àø£eTT >∑|üŒ $T#ÓÃ X̄

Á‘·T|òüTï‘· sê»dü÷j·TeTK<√Vü≤* e÷ »q≈£î+&ÉT dü‘·ÿèbÕ

$|òüTTï¶ &=øÏ+‘· <√&ÉŒ&çq ìqTï eTT<ä+ãTq¶ p#·T ˙•s√

<ä|òüTïeTT *+ø£¶ <ÓeTTà ø£s¡<ëqeTT>±¶ >∑qø£+|ü⁄>±\Te˝Ÿ.

(n)  $|òüTïeTT #̊dæq<Óes¡T ?

(Ä) mes¡T ø£|üŒ$T∫Ã] ?

(Ç) ø£|üŒeTT>± @$T Çe«e …̋qì ø√¬sqT ?

(á) ô|’ e÷≥\T mes¡T me]‘√ |ü*øÏ] ?

Ò̋<ë

21. ‘êq \eD≤_∆ j·TìqqT

<ëq eT<ÛäTs¡ »\~Û j·Tìq¶ <ëq j·TeTè‘· bÕ

<Û√ì~ j·TìqqT düø£̋ ≤

q÷q >∑TDdüTÔ‹øÏ Hê‘·à jÓTTø£∑¶&É j·TT<ä~ÛøÏHé !

(n)  ô|’ |ü<ä́ eTTqT s¡∫+∫q ø£$ mes¡T ?

(Ä) \eD eTq>±H̊$T ?

(Ç) eT<ÛäTs¡ eTq>±H̊$T ?

(á) s¡#·sTT‘· ø±\y˚T~ ?

VI. á ÁøÏ+~ |ü<ä́ eTTqT bÕ<äuÛÑ+>∑eTT Ò̋ì $<ÛäeTT>± Áyêdæ Ä |ü<ä́ eTTq≈£î uÛ≤eeTTqT Áyêj·TTeTT.
Fill in the blanks of the given poems and write the summary of each of them.

22. m≈£îÿ&ÉT ẙ&Éÿ Á>√*ø=ì.............. <ä≥+ãT\ ÁuÀe⁄ yÓ≥º>∑Hé                             1x6=6

23. á ÁøÏ+~ |ü<ä́ uÛ≤>∑eTT\+<ä* U≤∞\qT |üP]+|ü⁄eTT : 1x4=4

ø£H=ïø£{Ï .................... u…iø£+≥ ..............

................... >±$+#·T..................... MT~
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2x2=4VII. 24. á ÁøÏ+~yêì˝À @ ¬s+&ç+{Ï¬ø’Hê $Á>∑Vü≤ yêø£́ eTT Áyêdæ düe÷düeTT\ ù|s¡¢qT Áyêj·TTeTT.
Resolve any two of the following compound words and write their related

grammatical names :

(n) eTø£s¡ XÊãeTT\T (Ä) n#·\eTT

(Ç) ‘·*¢<ä+Á&ÉT\T (á) nwüº~>∑Z»eTT\T

(ñ) |ü⁄D´ #·]Á‘·T&ÉT (}) qe´uÛ≤wü

25. á ÁøÏ+~yêì˝À @<̊ì eT÷&ç+{ÏøÏ yê´ø£s¡D≤+X̄eTT\T >∑T]Ô+∫ Áyêj·TTeTT. 3x2=6

Identify any three of the following grammatical factors :

(n) \ø°åà<˚$øÏ |ü⁄{Ïºì\T¢ bÕ\düeTTÁ<äeTT.

(yê#·ø£eTT Áyêj·TTeTT)

(Ä) yÓTÆÁrã\T&ÉT <̊Vü≤‘ê´>∑eTT #̊j·TT≥≈£î dæ<ä›|ü&ÓqT.

(ø±\eTTqT ‘Ó\T|ü⁄eTT)

(Ç) C≤\s¡T\T ≈£L&É ø=ìï kÕyÓT‘·\T ø£*Œ+∫Hês¡T.

(e#·qeTTqT Áyêj·TTeTT)

(á) |üs¡«‘·eTT\˝À Væ≤e÷\j·T |üs¡«‘·eTT >=|üŒ~.

($uÛÑøÏÔì ‘Ó\T|ü⁄eTT)

(ñ) sêE >±]øÏ sTTs¡Te⁄s¡T ≈£îe÷¬sÔ\T >∑\s¡T

($ø£è‹ì Áyêj·TTeTT)

(}) ∫\Tø£ |ü#·Ãì~

($X‚wüDeTTqT >∑T]Ô+|ü⁄eTT)

26. á ÁøÏ+~yêì˝À @<̊ì ¬s+&ç+{ÏøÏ yê´ø£s¡D ø±s¡́ eTT\qT Áyêj·TTeTT.             2x2=4

Write any two of the following with their grammatical functions.

(n) eTVü‰Á~ (Ä) nø£ÿq´ (Ç) ÁãôVAà‘·‡eeTT\T

(á) n‘·´~Ûø£eTT (ñ) uÛÑTeHÓ’ø£ (}) y˚Tqj·T‘·Ô
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27. ÁøÏ+~ n\+ø±s¡eTTqT ñ<ëVü≤s¡DeTT‘√ $e]+|ü⁄eTT.         1x4=4
Answer any one of the following with example :

ñ|üe÷\+ø±s¡eTT

Ò̋<ë

  n‹X̄jÓ÷øÏÔ

28. ÁøÏ+~ |ü<ä́ bÕ<äeTTqT >∑D$uÛÑ»q #̊dæ @ |ü<ä́ bÕ<äyÓ÷ ‘Ó*|æ \ø£åDeTT\qT ‘Ó\T|ü⁄eTT.      1x4=4
Prosody :

sêE\πøqT sê» eTiÏ sê» •s√eTDÏ sêE <̊e‘ê

Ò̋<ë

#·+|üø£e÷\ ˝Ò<ë XÊs¡÷›\ |ü<ä´ \ø£åDeTT\qT ‘Ó\T|ü⁄q~.

VIII. »‘· |üs¡#·TeTT : 4x1=4

Match the following :

29. ø√øÏ\eTà ô|[fl & qqïj·T

30. ø£fi≤Á|ü|üPs¡í & ÁoHê<∏äT&ÉT

31. 11e X̄‘êã›eTT & $X̄«Hê<∏ä dü‘·́ Hêsêj·TD

32. ;ÛeT K+&ÉeTT - <ëX̄s¡~∏

& Hê#·q k˛eTq

IX. dü]jÓÆTq »yêãTqT >∑T]Ô+∫ Áyêj·TTeTT. 16x1=16

Choose and write the correct answer.

33. ù|òqeTT nq>±H̊$T ?

(n) ˙s¡T (Ä) qTs¡T>∑T (Ç) ÇdüTø£

34. ñs¡T<ä÷, ‘Ó\T>∑T ¬s+&ÉT ø£fīó¢̀ nì nqï ø£$ ?

(n) Äs¡TÁ<ä (Ä) dæ] yÓHÓï\ (Ç) <ëX̄s¡~∏
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35. ªªø£$‘ê |ü⁄wüŒø£ $e÷q+µµ mø£ÿ&ÜìøÏ ns¡Ω‘· ì#̊Ã~ @~?

(n) @ø£‘·«+ (Ä) _Ûqï‘·«+ (Ç) düs¡fī‘·«+

36. ẙ<ä |üqdü\T Hs̊¡TÃø=ìq~ :

(n) Vü≤+dü (Ä) ø√øÏ\ (Ç) ∫\Tø£

37.  Ä+Á<ÛäuÛÀE&ÉT :

(n) ÁoHê<∏äT&ÉT (Ä) Áoø£èwüí <˚esêj·T\T (Ç)  Hê#·qk˛eTq

38. Áoø£èwüßíì X̄+K+ ù|s¡T :

(n) bÕ+#·»q´+ (Ä) q+<äø£+ (Ç) XÊs¡®Z Ze+

39. Vü≤]D øÏXÀs¡ eTq>± :

(n)  dæ+Vü≤|ü⁄ |æ\¢ (Ä)  |ü⁄*|æ\¢ (Ç) õ+ø£|æ\¢

40. |üs¡«‘·eTT\ i…ø£ÿ\qT K+&ç+∫q yê&ÉT :

(n) Ç+Á<äT&ÉT (Ä) •e⁄&ÉT (Ç) ÁãVü≤à

41. ‘·eT|òüTÀwüß&ÉT :

(n) Vü≤+düTìøÏ ‘·+Á&ç (Ä) bÕs¡«‹øÏ ‘·+Á&ç (Ç) •X̄óbÕ\TìøÏ ‘·+Á&ç

42. yÓHÓïeTTø£qT <ëq+ #̊dæq eTVü≤]¸ :

(n) <äBÛ∫ (Ä) <äTsê«düeTVü≤]¸ (Ç) $XÊ«$TÁ‘·T&ÉT

43. •X̄óbÕ\Tì #·+|æq Äj·TT<ÛäeTT :

(n) u≤DeTT (Ä) #·Áø£eTT (Ç) X¯+KeTT

44. 14e X̄‘êã›eTTq≈£î #Ó+~q ø£$ mes¡T?

(n) mi¿q (Ä) ‹ø£ÿq (Ç) lÁo
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45. #Ó<ä\+≥ì edüTÔe⁄ :

(n) ì|ü⁄Œ (Ä) ø±–‘·eTT (Ç) #Ó≥Tº

46. áX̄«s¡Tì yêVü≤qeTT :

(n) |ü⁄* (Ä) >∑»eTT (Ç) eèwüuÛÑeTT

47. ø£$ kÕs¡«uÛÖeT _s¡T<äT >∑*–q yê&ÉT :

(n) b˛‘·q (Ä) ÁoHê<∏äT&ÉT (Ç) |æqMs¡ uÛÑÁ<äT&ÉT

48. uÛÑ\¢+ãT :

(n) @qT>∑T (Ä) >∑Ti¿eTT (Ç) m\T>∑Tã+{Ï

X. ˝À|æ+∫q |ü<ä́ bÕ<äeTT\qT |üP]+|ü⁄eTT. 2x2=4

Complete the missing lines of the poem.

49. Mì H=s¡T\T #·+|ü>± H√|ü¬se«s¡T

________________________________

________________________________

q&É>∑T Mìø£‘· &Éj·T+‘·≈£î+&ÉT

50. eTTì ÁeTT#·TÃ\ e÷≥\T $ì

________________________________

*q <Ûäs¡à+ãTqT yÓTT<ä\T #Ó

________________________________
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